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1) Draw a line to match
[image: ]2) Circle the o[image: ]dd one out
3) Fill in the spaces in the table
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Ordering

4) Read the question. Explain your answer to the right…
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Roman Nume[image: ][image: ]rals

5) Use the roman numerals guide poster to help you

6) Show your working out to the right









7) 
[image: ]
























Rounding

[image: ]8) Complete the table by writing the numbers in the correct columns







9) 
300        ___________    ____________   __________  ______________  ____________   

b) 10,000     ____________    ___________   __________  _[image: ][image: ]__________  ____________   

c)  8,900      ____________    __________   ___________  ____________  ____________   
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11)
Write your answer(s) here:



















12) Do you agree? Explain your answers to the right…[image: ][image: ]
































13) 
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Place Value

14)






15) 	Write your answers to the right								








	A =
	
	B=
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	C=



16) 










Rosie will not say the other numbers because:














[image: ]17) Write in ascending order by putting 1st, 2nd, 3rd by each value

18)
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19)
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Write your 5 5-digit-numbers here:






Now put them in order, greatest to smallest here
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Rounding	Write your answers here

20) 
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	22)	
[image: ] 23) Place Value
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25) 
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27) 
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Sequences

28) 
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29) 









30) 


















[image: ]31) 

Estimation
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More or less

33) 




34) 
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Mo
Rosie
Jack
Dora

Negative Numbers

35) 
36) Draw your number line here:

37) State true or false and give[image: ][image: ][image: ] your reasons to the right





















Rounding

38) 
39)














40) 
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41) 

















42) 

image4.png
Tommy says he can order the following He is incorrect

numbers by only looking at the first three = because two of the
digits. numbers start with

twelve thousand,
five hundred

2 m therefore you need
12,516 to look at the tens
to compare and

I 12,679 order.

Is he correct?

Explain your answer.
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Complete the function machines.

(cec)— @) — )
) — () — (o)
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Solve Possible answers:

CICClL - ClL= ChEINE
M=l

How many calculations, using Roman C+CC+ CC
Numerals, can you write to get the same | C XV
total?
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Here is part of a Roman Numerals
hundred square.

Complete the missing values.

XLIV | XLV XLVII
LVI LVII
LXIV LXVI | LXVII

What patterns do you notice?

Missing Roman
Numerals from the
top row and left to
right:

s XLVI
LIV
e LV
XV
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Complete the table.

DCCLXIX





image9.png
For each number, find five numbers that round to it when rounding
to the nearest 100




image10.png
1150

My number rounded to the 1151
nearest 10 is 1150 @ 1152
Rounded to the nearest 1153
100 it is 1,200 Jack | 1154

Rounded to the nearest
1,000 it is 1,000

What could Jack's number be?

Can you find all of the possibilities?
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Complete the table.

Start Number

Nearest 10

Nearest 100

Nearest 1,000

365

1242

4,770
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2,567 to the
nearest 100 is
2,500 =

Whitney

Do you agree with Whitney?
Explain why.

Teddy

©

4,725 to the
nearest 1,000 is
5025

Explain the mistake Teddy has made.

| do not agree with
Whitney because
2,567 rounded to
the nearest 100 is
2,600. | know this
because if the tens
digitis 5,6,7,8 or
9 we round up to
the next hundred.

Teddy has
correctly changed
four thousand to
five thousand but
has added the tens
and the ones back
on. When rounding
to the nearest
thousand, the

answer is always a
multiple of 1,000
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A number is shown in the place value grid.

10,000s

1,000s

100s

10s

Write the number in figures and in words.

¢ Alex adds 10 to this number

e Tommy adds 100 to this number
e Evaadds 1,000 to this number
Write each of their new numbers in figures and in words.
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Complete the missing numbers.

59,000 = 50,000 +

= 30,000 + 1,700 + 230
+ 300 +

75480
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Here is a number line. A = 2800

L | | | | | | |
I I I I I I T I I I
2000 A 3000

What is the value of A?

|||||||||||

B is 40 less than A.
What is the value of B?

Cis 500 less than B.
Add C to the number line.

Here are three ways of partitioning Possible answers:
27,650

2 ten thousands, 6
27 thousands and 650 ones hundreds and 5
27 thousands, 5 hundreds and 150 ones | tens

27 thousands and 65 tens
20 thousands, 7

Write three more ways thousands and
650 ones
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Rosie counts forwards and backwards in

10s from 317

Circle the numbers Rosie will count.

427 997
1666 | | 3210 | [ 5627 |
23 7 J[ -3 ]

Explain why Rosie will not say the other

numbers.

427
997
5627
7

=3
=25

Any positive
number will have
toendina?

Any negative
number will have
toendina3
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Put these numbers in ascending order.

000
SO00
000

10,000s

1,000s

100s

10s

1s
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e N—

Add the symbol <, > or = to make the statement correct.

MMXVII O @@
©00°®
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- Use six counters to make five different 5-digit numbers.

10,000s

1,000s

100s

10s

1s

Order your numbers from greatest to smallest.
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Round 85,617

e To the nearest 10

¢ To the nearest 100

¢ To the nearest 1,000
¢ To the nearest 10,000
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Complete the table.

Rounded to the
nearest 100

Start Number

Rounded to the
nearest 1,000

15,999

28632

55555
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Round the distances to the nearest 1,000 miles.

Destination Miles from Manchester| Miles to the nearest
airport 1,000
New York 3334
Sydney 10,562
Hong Kong 5979
New Zealand 11550
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Round 59,996 to the nearest 1,000
Round 59,996 to the nearest 10,000

What do you notice about the answers?

Can you think of three more numbers
where the same thing could happen?

Both numbers
round to 60,000

Other examples:

19,721 to the
nearest 1000 and
10,000

697 to the nearest
10 and 100

22,982 to the
nearest 100 and
1,000
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" Eva has the following"number.

H T O

H
000 (0000, 000 (X ]
o009 (0000 | 000 X

She adds 4 counters to the hundreds column.
- What is her new number?
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Describe the value of the digit 7 in each
of the following numbers. How do you
know?

407,338

700,491

25571

407,338: the value
is 7 thousand. ltis
to the left of the

hundreds column.

700,491: the value
is 7 hundred
thousand. It is a 6-
digit number and
there are 5 other
numbers in place
value columns to
the right of this
number.

25571: the value is
7 tens. Itis one
column to the left
of the ones
column.
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Rosie has made a
(o[ 0) mistake. She is
~ counting in 100s;
Mo | therefore the ones
column should
never change.

| am counting up in
10s from 184
| will include 224

Jack has also
made a mistake as
he is counting in
1,000s, so the tens
and ones columns
won't change.

| am counting up in
100s from 604
| will include 1,040

| am counting up in
1,000s from 13
I will include 130,000

@

Jack

Who has made a mistake?
|dentify anyone who has made a mistake
and explain how you know.
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The bar models are showing a pattern.

40,000
40,000 X
| l 1 || 10000 30,000
|
40,000 . 35000
A
r 1
40,000
|
40,000

40,000

Draw the next three.

Create your own pattern of bar models
for a partner to continue.
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Complete the sequence.

) ’27

22,

42,

The rule for the sequence is

, 72




image30.png
Circle and correct the mistake in each sequence.
» 7875, 8875, 9875, 11875, 12,875, 13875, ...

* 864,664, 764,664, 664,664, 554,664, 444,664, ...
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Put the number cards in order of size.

I 13,010 Il 13,100 || 13,01 Il 13,110 || 131M I
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Estimate the values of A, B and C.
A B

| I

0 1,000,000
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~ b b b

" Here is a table showing the population in areas of Yorkshire.

Halifax 88134
Brighouse 32,360
Leeds 720,492
Huddersfield 146,234
Wakefield 76,886
Bradford 531200

Use <, > or = to make the statements correct.
The population of Halifax O the population of Wakefield.

Double the population of Brighouse O the population of Halifax.
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Here are four number cards.

42,350 I l 43,385
56,995 I l 56963

Four children take one each and say a
clue.

My number is 57,000 when <o)
rounded to the nearest 100
Mo
My number has exactly three
. hundreds in it
Rosie
My number is 43,000 when
rounded to the nearest thousand Jack
My number is exactly 100 less
then 57,063
Dora

Which card did each child have?

Mo: 56,995
Rosie: 42,350
Jack: 43385
Dora: 56,963
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" Estimate and label where 0, —12 and —20 will be on the number
line.

S —
—25 25
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Whitney visits a zoo.

The rainforest room has a temperature of 32°C

The Arctic room has a temperature of —24°C

Show the difference in room temperatures on a number line.
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True or False?

*  The temperature outside is —5
degrees, the temperature inside is 25
degrees.

The difference is 20 degrees.

*  Four less than negative six is
negative two.

* 15 more than =2 is 13

Explain how you know each statement is
true or false.

False: the
difference is 30
degrees because it
is 5 degrees from
—5to0 0. Added to
25 totals 30.

False: it is negative
10 because the
steps are going
further away from
zero.

True

Children may use
concrete or
pictorial resources
to explain.
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Round these populations to the nearest 100,000

Leeds 720,492
Durham 87559
Sheffield 512,827

Birmingham 992,000
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' Round 450,985 to the nearest
« 10

*+ 100
+ 1000
* 10,000

100,000
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At a festival, 218,712 people attend across the weekend.
Tickets come in batches of 100,000

How many batches should the organisers buy?
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The difference between two 3-digit 499 and 501
numbers is two. 498 and 500

When each number is rounded to the
nearest 1,000 the difference between
them is 1,000

What could the two numbers be?
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When the difference between A and B is
rounded to the nearest 100, the answer is
700

When the difference between B and C is
rounded to the nearest 100, the answer is
400

A, B and C are not multiples of 10

What could A, B and C be?

A — B is between
650 to 749

B has to be greater
than 400 to
complete
B—C=400

Possible answer:

A =124
B =506
C=59




image1.png
Which diagram is the odd one out? °
e Q
b - @

< > O0000

00000

5,000 1\ 6,000
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Match the diagram to the number. ‘
ity 0000 2‘:
m 90000 ) &
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Complete the table.

=

N

=

Add 10

Add 100

Add 1,000

2,506

7999

6,070





